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1/ RER 80 98 178 47 201 |57 ERED 365 392 7157 281 36 |BHABEN 605 610 1,215 337
( 0]« 1) ] ( 1) (—TH) 3) Nnic 4 OSTH) 0)  ( 1) 1)
pALI - 361 376 7137 287 202|577 ERED 655 698 1,353 546 321 | HEE— 0 0 0 0
( 0]« 1) | ( 1) (ZTH) 1) 0) | ( 1) (— T H1~4%H) 0/C 0 0)
3|ETH 74 92 166 52 203 |& /7 fdbEs 581 587 1,168 444 322 | HEE— 126 118 244 79
(Ol o/C 0 (=TH) 0) 2) | C 2 (7T H4) 2 C 2 4)
4\HTF 342 423 765 317 204 |8 /7 fAbER 497 521 1,018 386 323 | HEE— 696 672 1,368 400
(Ol o/C 0 (WTH) 1) 2 C 3 (=T H45) 2 4 6)
5— /B4 71 65 136 37 211 |kt 434 435 869 330 324 | HEE 372 380 752 270
( 0)  ( 0)  ( 0) (—TH) 0) 1) ( 1) (T H1~17FH) 0)  ( 0) 0)
6| /M4 91 87 178 50 212 |kt 207 247 454 168 325|E HEE — 689 707 1,396 405
(0 ]( 1) | ( 1) (ZTH) 0) 0/C 0 (BT B4 2) | ( 6) 8)
7= 172 158 330 109 213 |kt 284 268 552 187 326 | HEE— 341 385 726 207
(0 o]C 0 (=TH) 0) 0/C 0 ONT H1~177%H1) 0)  ( 1) 1)
8|E P H 162 157 319 100 214 |kt 355 368 723 286 327 | HEE = 823 845 1,668 479
( 0]« 1) | ( 1) (WTH) 0) 1) | ( 1) (&1 H4) 0 /C 0 0)
9| B H 54 42 96 26 221 | BT DOY—TH 585 594 1,179 410 328 | HEE = 223 228 451 142
(0 ]( 1) | ( 1) 0) 0/C 0 O\T H45) 1) | ( 1) 2)
10| 71 68 139 40 222 | BHITDOY T H 708 721 1,429 499 329|p HEE = 3 7 10 5
(0l o/C 0 1) 5 | ( 6) (LT H4%) 0 /C 0 0)
11| K& 48 51 99 23 223\ HIT DO =T H 846 818 1,664 590 331 | HEE — 0 0 0 0
(0l o/C 0 0) 1) | ( 1) (— T H5~8%h) 0/C 0 0)
12|45 5% 105 95 200 51 231 BEEHR—TH 604 656 1,260 418 334 | HEE = 386 371 7157 275
( 0]« 1) | ( 1) 0) 0/C 0 (YT H18~28%:th) 2) | ( 5) 7)
13| K& 50 52 102 24 232|HEE-TH 805 852 1,657 557 336|Ek M — 446 463 909 256
(0l o/C 0 2) 2) | (4 (ST H18~35%h) 0/C 0 0)
14|65 85 89 174 44 233|HER=TH 367 384 751 246 401 ERAAR—TH 460 484 944 289
(0l o/C 0 0) 1) | ( 1) 2 C 0 2)
15/HA 107 84 191 55 241 | T4 — 409 419 828 255 402 ERARTTH 0 0 0 0
(0l o/C 0 1) 2) | 3 0/C 0 0)
16| P& 1k H 109 123 232 61 242 | TG 55 52 107 37 411\ KiEAK—TH 627 629 1,256 365
( ool 2/C 2 1) 0) | ( 1) 4) | ( 7) 11)
20 i KA 253 243 496 172 301 | MG HH— 410 462 872 325 412 KiEK—TH 317 312 629 193
(Ol o/C 0 (—TH) 0) 0/C 0 1) | ( 1) 2)
101 | K75 336 363 699 245 302 | HmkGHH— 416 469 885 347
(—TH) ( HDIC 2. 3 (ZTH) 1) 3 4
102 | K75 270 277 547 209 303 | HHEH = 549 615 1,164 430
(ZTH) (0l o/C 0 0) 2 2
111 OdhE—TH 844 850 1,694 597 304 | KA EHE T =— A 176 192 368 163
( 3 C 4|« 7) 0) 2 2
112/ 0&0WETH 460 427 887 333 3N |\BHABE— 503 557 1,060 352
( 0]« 1) | ( 1) (—TH) 0) 0/C 0
1217V —rbL 263 242 505 154 312BHABE 469 534 1,003 310
(Ol o/C 0 (ZTH) 0) 1) | ( 1)
140\ HDR 166 144 310 119 N3 FAEE= 657 687 1,344 400
(—TH) ( N C 0 ( 1) (=TH) 1) 2) | 3
141 | BHOR 45 58 103 39 M4 AEE= 194 203 397 136
(—TH) (0l o/C 0 (WTH) 5) 1) | ( 6)
142\ LR 355 361 716 254 35\ HAEEL 1,039 986 2,025 639
(ZTH) ( 21« 5 | ( 7) (WTH,HTH) 1) 0) | ( 1)
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